mBC = 4‘2011.‘, mCA = 5.2cmof
AABC

() Draw a line segment mAB =
3.2cm '

(i) With centre B and radiys 4.2¢cm,
draw an arc,

(i)  With centre A and radius 5.2cm,
draw another arc which meet
previous arc at point C.

(iv)  JoinCtoB and A.

Then ABC is the required A.

(ii) mAB = 4.12cm,ml§':(_f = 3.9¢im,
mCA = 3.6cm

The sides mAR = 4.2cm,
mBC = 3.9¢m, mCA = 3.6cm of AABC

(i) Draw a line segment mAR =4 - 2cin

(ii) With centre B and radius 3. 9cm,
draw an arc.

(i)  With centre A and radi us 3.6cm,
draw ancther arc which meet
previous are at point C.

(iv)  JoinAto Cand B to €

Then ABC is the required A.

(i) mAB =4, Scm, mBC = 37cm,
mZB = 66°

The sides mARB = 4.8cm,
mBC = 3.7cm and M£B =60 of
AABC



equired
To construct the AABC

A 4.8cm B

() Draw a line segment mAB =4.8cm

(i) At the end point B of AB make
m/B = 60°.

(i) Cut off mBC=3.7cm from the
terminal side of £ 60",

(ivy Join AC

Then ABC is the required A.

(iv) mAB =3cm, mAC =3.2cm,

m é:& = 450.

(i3 Draw aline segment mARB = 3cm.

(i) At the end point A of AB make
A =45
(ii) Cut off mAC = 3.2cmfrom the

terminal side of £45°.
(iv) Join BC
Then ABC is the required A.

v) mBC = 4.2cmn, mCA =3.5cm,
m~/C=75"

The sides mBC = 4.2011‘1,'

mCA =3.5¢cm and mZC =75° of
AABC

¢d

To construct the AABC

(i) Draw aline segment mBC =4.2cm.

(i) At the end point C of BC make

m/C=75".

(i) Cut off mAC=3.5cm from the
terminal side of £75°.

(iv) Join AB.

Then ABC is the required A.

(vi) mAB=2.5cm,mZA =30°,
m.ZB =105°.



To construct the AABC

A

(i) Draw the linc segment

mAB=2.5cm,
(ii) At the end point A of AB make
LA =30°

m<B = 105°,

(iv) The terminal sides of these two angles
meet in C.

Then ABC is required A.

(vil) mAB =3.6cm,m /A = 75°,

A 3.6cm B

(i) Draw the line segment

(i) At the end point A of ABmake
mZA =75

(1) At the end point B of AB thake
mZB =457,

(iv) The termunal sides of these two
angles meet at C.

Then ABC is the required A

.2. Construct a A xyz in which

To construct the AXYZ
AR

1 \\ ‘?:_FT

\‘i’f’e
"‘?\%“ \\\
o Y

(i) Draw the Jine

6.1 em

segment

ms X = 907,

(i)  With Y as centre and  radius
7.6cm, draw an arc which cut
terminal side of £90° at point 7.

vy Join7Y.




Then XYZ is the requirea A
i mZX=6.4cm, mYZ = 2.4cm,
m/Y =9%0°

The sides

mZLY =907 of AXYZ.
Regitired
To construct the AXYZ

Al

-

(1) Draw the line segment

mYZ=24cm

(11) At the end point Y of YZ make

msLY =90°.

(iii)  With Z as centre and radius 6.4cm
draw an arc which cut terminal

side of £90° at point X.
@iv) Join XZ.
Then XYZ is the required A.
(i) mXY = 5.5em,mZX = 4.5cm,

m/Z =90°

The sides
mXY = 5.5cm, mZX = 4.5cmand
mZ/Z =90° of AXYZ.

Required

To construct the AXYZ
A

(i) Draw a line segment mZX =4.5cm

(i) At the end point Z of 7ZX make
m£Z.=90°.

(iii) With X as centre and radius 5.5¢m
draw an arc which cut terminal side
of £90° at point Y

(iv) Join XY.

Then XYZ is the required A.

.Q.3. Construct a right angled 2

measure of whose hypotenuse i
5cm and one side is 3.2cm.
In right angled A hypotenuse is Sem

and one side is 3.2cm

To construct the AXYZ
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(i) Draw a line segment mAB = Scm.

(i) With AE as diameter, draw a semi
circle.

(iii) With A as center draw an arc of
radius 3.2cm cutting the semi circle
in C.

(tv) Join C with A and B.

Therefore ABC is required trmn,rz]e with

£C=90°

Q.4 Construct 2 right angled isosceles

trldngle Whose hypotenuse is:
ypotenuse 3.2em long

In wight angled isosceles triangle
otenusc s 5.2 cm.

To construct right angled isosceles
iriangle

N/
Y

{i) Take mAB=5.2cm.

(i) Find mid-point M of AB . |

(iii)  With centre as M and radis |
MAM =mMB draw a semi circle |
which intersects the bisector in C. ,

(iv) JoinAtoCandBtoC.

Then AABC is the required right angled |

isosceles triangle with ~C = 90°

(i) Hypotenuse 4.8 cm

In right angled isosceles triangle
hypotenuse s 4.8 cm.

To construct right angled isosceles
triangle.

N
ey

(1) Take mAB =4.8cm.
(11) Find mid-point M of AB .
(iii) With centre as M and radius

mAM = mMB draw a semi circle
which intersects the bisector in C.
(iv)  Join AtoCandB to C.
Then AABC is the required right angled
isosceles triangle with ~C = 90°
(iii) Hypotenuse 6 2 cm

In right angled isosceles triangle
hvpotenuse is 6.2 cm.



triangle.
A
C
Sk
A M|6.2¢m 8
=K
\7

(1) Take mAB =6.2cm.
(i) Find mid-peint M of AB.
(if)  With centre as M and radius

mAM = mMB draw a semi circle
which intersects the bisector in C.
(iv) JoinAtoCand B toC.
Then AABC is the required right angled
isosceles triangle with £ C = 90°

To construct right angled isosceles
triangle.
A

NS
VA

A M} 5.4cm B

AY)

() Take mAB =5.4cm.
iy Find mid-point M of AB.
(i)  With centre as M and radius

which intersects the bisector in C.
(iv) Join AtoCandB to C.
Then AABC is the required right angled
isosceles triangle with ~C = 90°
.5.(Ambiguous case} construct a
AART in which

() mAC = 4.2em, mAB = 8.2cm,

m/B = 45°.
To construct AABC

(i) Draw a line segment mAB =5.2cm.
(ii) At the end point B of BA make

m/B = 45°
(iii)With centre A and radius 4.2cm draw

an arc which cuts BD in two distinct
points C and C'.
(iv)Join AC and AC’.



7+ AABC and A ABC' are required
triangles.

(i) mBC = 2.5cm, mAB = 5.0cm,
mZA = 30°,

In AABC mBC =2.5¢m,
mAB =50cm, m/A = 30°.

[

To construct AABC

1.Construct the following A’s ABC.
Draw the bisectors of their angles and
verify their concurrency.

@ mAB=4.5cm, mBC = 3.1em,
mCA = S5.2cm.

Given
The sides mAB = 4.5¢m,
mBC = 3.Iem, andmCA =5 2enmi

(i) To construct AABC.
(1) To draw its angle bisectors and
verify their concurrency.

(i) Take mAB =5cm.
(ii) At the end point A of AB make

m<LA =30°
(ii)With centre B and radius 2.5cm draw

..._}
an arc which touches AX at point C,
(iv) Join BC.,
. _AABC is required triangle.

4.5 cm

() Take mAB =4.5cm.

(i1) With A as centre and radius 5.2¢m
draw an arc.

(i) ~ With B as centre and radius 3.1cm
draw another arc which intersect
the first arc at C.

(tv)  Join ACand BC to complete the
AABC.

v) Draw bisectors of ZA, ZB and
£C meeting each other in the
point I



Hence angle bisectors of the AABC are
concurrent at I which lies within the
triangle.

(ii) mAB = 4.2cm,m§€ = 6cm,

mCA =5.2¢m
The sides mAB =4.2cm,
mBC = 6cm, mCA = 5.2cm of a AABC.

Required
(i) To construct AABC.
(i) To draw its angle bisectors and

verify their concurrency.

C
g &
o
w 2
A 42cm B
Construction

() Take mAB =4.2cm.

(1) With A as centre and radius 5.2cm
draw an arc.

(iiiy  With B as centre and radius 6¢cm
draw another arc which intersect
the first arc at C.

(iv)  Join BCand AC to complete the
AABC.

(v) Draw bisectors of ZA,ZB and
ZC meeting each other in the
point I . Hence angle bisectors of
the AABC are concurrent at I
which lies within the triangle.

(iii) mAB =3.6cm, mBC = 4.2cm,
m/B =75°.

mBC =4.2cm and m«B =75° of AABC
(1) To construct AABC.
(i)  To draw its angle bisectors and
verify their concurrency.

A 3.6 em B

()  Take mAB=3.6cm

(i) At B draw angle of 75°

(iii)  With B as centre and radius 4.2cm
draw arc which intersect terminal
arm of 75% in C.

(iv)  Join AC to complete the AABC.

(v) Draw bisectors of ZA, ZB and

ZC meeting each other in the

point L.

Hence angle bisectors of the AABC are

concurrent at I which lies within the
triangle.



2.2 Construct As PQR. Draw their
altitudes and show that they are
concurrent,

(i) mi’(j o= ﬁcm,maﬁ =4.5cm,

mPR = 5.5¢m,

; " R

The

sides  mPQ = 6em, mQR =4.5cm

and PR =55cm of 4 APQR.

{1} To construct A POR.
(i) To draw its altitudes and verify
their con currency.,

Xf
TN

(1) Take mi’@: 6cm

(1) With P as cenire draw an arc of
radius 5.5 cm.

(1))  With Q as centre draw an arc of
radius 4.5cm, cuttin g the first in R,

(iv)  Join R with P and Q.

v) Draw the altitudes on, ﬁ, @ and

PQ which cut each other ]
(vi) Al altitudes are concurrent,

————— e

(ii) mP_Q =4.5cm, m(jl_l =3.9cm,
msR =45°,

The sides ml?(j =4.5¢m, nl(—}ﬁ =3.9¢cm

£R =45° of APQR
ed

and m

(i} To construct A PQR.
(x1) Te draw its altitudes and verify
their concurrency.

()  Draw QR =3.9cm.

(ii) Make /R = 45°

(i) Cut QP=4.5cm join PQ, APQR is
formed.

(iv) Dréw altitudes onPR , Q‘R and
%they cut each other in I.

The altitudes are concurrent,



Gil)  mRP =3.6em,mZQ = 30°,

m/P =105°.

(i) To construct A PQR.
(it} To draw its altitudes and verify their

concurrency.

m/P+msQ+mLR =180°

105° +30° + m4£R =180°
135° +m«£R =180°
mZR =180° —135° =45°

()  Take mRP=3.6cm.
(i) At P draw an angle of 105"

(i) At R draw an angle of 45°.

(iv)  Terminal arms of both angles meet
in point Q. It form A PQR.

(v)  Draw the altitudes, of PQand QR
and RP cutting each other in L.

The altitudes are concurrent.

Q.3. Construct the following triangles

ABC. Draw the perpendicular bisectors

of their sides and verify their

concurrency. Do they meet inside ihe

triangle.

G mAB=53cm, m/A =45°,
~ msB= 30°

(it) To draw perpendicular bisectors of
its sides and to verify that they are

concurrent.

A S3¢cm

(i)  Take mAB=5.3cm
(i1) At the end point A of AB make
mZA =45°.



(1)) At the end point B of AB make
m/B =307,

(iv)  The terminal sides of these two
angles meet at C.
Then ABC is required A.

(v) Draw perpendicular bhisectors of

AB,BC and CAmeeting each
other in the point O.
Hence the three perpendicular biseetors of
sides of AABC are concurrent at O.

(i) mB(, 29cm, m/A = 39"
__m £ B=6¢°

l’hﬂ sxdc mBC =2, Yem, mZA = 30° and
!n/ B 600 of AABC,

(1) TU construct the AABC,

(i) To draw perpendicular bisectors of
its sides and to verify that they are
concurrent.

mZA +m4LB+m«C =180°
30° +60° + msC =180°
90° + mLC =180°

mZC =90°,
(1) Take mBC=2.9cm
(i) At the end point B of BC make

mZB = 60°,
(i) At the end point C of BCmake
mZC =90°,

(iv)  The terminal sides of these two
angles meet in A.

Then ABC is required A.

(v) Draw perpendicular bisectors of
AB.BC and CA meeting  each
other in the point O,

Hence the three perpendicular bisectors of

sides of AABC are concurrent at O.

(iii) mAB = 2.4cm, mAC = 3.2cm,
mJsA =120°

The sides mAR = 2. 4cm, mAC =32cm
mAA = l 20°0f a AABC

(1) "{ o construct the AABC.

(11) To draw perpendicular bisectors of
its sides and to verify that they are
concurrent,

(i)  Take mAB=2.4cm



(i)

(iii)

(iv)

At the end point A of AB make

i &-=120°

With centre A, draw an arc of
radius 3.2cm which cut terminal
arm of ZA at C.

Join BtoC

Then ABC is required A.

(v)

Draw perpendicular bisectors of

E,ﬁ and ameeting each other
at the point O.

Hence the three perpendicular bisectors of
sides of AABC are concurrent at O.

Q4.

Construct following A’s XYZ.

Draw their three medians and show
that they are concurrent.

(i)

Given

mYZ =4.1cm, mZY = 60° and
m/X =75°

The side mYZ =4.lcm, mZY = 60° and

Draw its medians and verify their
concurrency.

Construction

mZX+mZ2Y +m/Z =180°
75° +60° + m«£Z =180°
135° + msZ =180°

(1)
(i)

(iii) |
(iv)

v)

(vi)
(vii)

(viii)

m/Z=180°—135°

mZZ =45°.

Take mYZ=4.lcm.

At the end point y of YZ make
mZLY =60°.

mZZ=45°

The terminal sides ol thesc angles
meet at X. Then XYZ is required A.
Draw perpendicular bisectors of
the sides _Y_Z, ZXand XY of
AXYZ and make their midpoints
A, B and C respectively.

Join Y to midpoint B to get median
YB.

Join Z 1o midpoeint C to get median
Join X to mid point A to get median
AX .The medians of AXYZ pass
through the same point G.

All medians intersect at point G.
Hence medians are concurrent at G.

i)

mXY = 4.5cm,m?Z_ =3.4cm,

mZX = 5.6cm

The sides mXY = 4.5¢m, mYZ =3.4cm

and mZX =5.6cm of a AXYZ.

Construct the AXYZ.
Draw its medians and verify their
ConCurrency.



o
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(1) Take mXY = 4.5¢cm.

(11) With Y as centre and radius 3.4 cm

draw an arc.

(i)  With X as centre and radius 5.6cm
draw another arc cutting first in Z

joinZtoY and X to Z.

(iv)  Draw perpendicular bisectors of
the sides X?, YZ and XZ of
AXYZ and make their midpoints

A,B and C respectively.

(v) Join X to mid point B to get

median XB :

(vi)  Join Y to midpoint C to get

medians YC.

(vii)  Join Z to midpoint A to get median

ZA

All medians intersect at point G.

Hence medians are concurrent at G.

(i) mZX =4.3cmmoX =75 and
mcZY =45°,

Given
The side mZX = 4.3cm, msX =75° and
ML =45 6F AXYZ.

(i) Construct the AXYZ,

(i1)

(i)
(i1)

(iii)

(iv)

(V)

(vi)

(vii)

Draw its medians and verify their

C()HCUITCHC)/.

mLX +mLY + msZ =180°
75°+45% + m£LZ =180°

mZZ +120° = 180°

m«£Z =180° —120°

mZ£Z = 60°

Take m7ZX =4 3cm.

At the end point Z of ZX makc
mlZ=60",

Al the end point X of XY make
mLX =75°

The terminal sides of these angles
mect at Y. Then XYZ. is required A.
Draw perpendicular bisectors of
the sides LX, i?and YZ of
AXYZ and make their midpoinis
A,B and C respectively.

toin Y to midpoint A to get median
Join 7 to the midpoint B to get
median ZB .



(viiiy Join X to the midpoint B to get
median XC.

1.(i)) Construct a quadrilateral
ABCD, having

mAB =mAC = 5.3cm,
mBC =mCD =3.8cm and
mA]_) = 2.8cm.

(ii) On the side BC construct a A

equal in area to the quadrilateral -

ABCD.

C

Exercise 17.3

Five

Sides of quadrilateral ABCD
mAB=mBC=5.3 cin
mBC=mCD=3.8 cm

o mAD =2.8 cm

Required

i) To make the quadrilateral ABCD.

ii) On the side BC construct a A equal in
area to the quadrilateral ABCD.
Coustruction

(i) Take mAB =53 cm.

(i) With centre A and B draw arcs with
radii 5.3 cm and 3.8 cin respectively
cutting each other in C.

(iit)  With C as centre draw an arc of

radius 3.8cm, then with A as centre draw

/- A 5.3¢cm B

All medians intersect at point G.
Hence medians are concurrent at G.

an arc of radius 2.8cm cutting the first in
D.

(iv)  Join AD, DC, BC

ABCD is the required quadrilateral.

(i)

()  Draw AC

(i)  Through D draw a linc 11 AC

(iii)  Produce AB which meet parallel
line in P.

(iv)  Join P with C

PCB is the required triangle equal in area
to quadrilateral ABCD.

2. Construct a A equal in area to
the guadrilateral PQRS, having

maﬁ =Tcm, mRS = Gem,
mSP = 2.75cm, mZQRS =60

and mZRSP=90".

(1) To make the quadriiateral PQRS.
(iiy  To make a A cqual in area to the
quadrilateral PQRS.



(i)  Take mQR =7cm

(i1) Make ZQRS = 60°

(i)  With R as centre draw an arc of
6 cm radius which cuts terminal
arm of £60" in S.

(tv)  Make ZRSP = 90°

(v) With S as centre draw an arc of
2.75 cm radius which cuts terminal
arm of 90° in P,

(vi)  Join QP.

PQRS is required quadrilateral.

(vit)  Join PR

(viit) Through S draw a line parallel to
PR which meet 61—5 produced in A.

(ix) Join AP.

AAPQ is the required triangle equal in

area to quadrilateral PQRS

3. Construct a A equal in area to

the quadrilateral ABCD, having
mAB = 6cm, mBC = 4cm,
mAC = 7.2cm, mZBAD =105°

and mBD=8cm .
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Parts of the quadrilateral ABCD are given

(1) To make the quadrilateral ABCD.
(i1) To make aA with area equal to that

of quadrilateral ABCD.

(i)  Take mAB=6em.

(i)  Make £ZA =105",

(i)  With B as centre draw an arc of
radius dcm, cutting the arm of £ZA
in D. ‘

(iv)  With A as centre draw an arc of
radius 7.2cm, with B as centre
draw an arc of radius 4cm, cutting
the first in C. Join C with B and D.

ABCD is the required quadrilateral.

(V) Join AC.

(vi)  Join DB. Draw a line parallel to
DB which meet AB produced in P.

(vit)  Join PD.

AADP is the required triangle equal in

area to the quadrilateral ABCD.

4. Construct a right-angled triangle

equal in area to a given square.



A ' D F

(iven

Square ABCD

To make a right-angle Aequal in area to

the square.

(1) Bisect CD atE.
(ii))  Join BE and produce it to meet
AD produced in F.
AABF is the required. triangle equal in area

to square ABCD.

Exercise 17.4

1. Construct a A with sides 4 cm, S
cm and 6 cm and construct a rectangle
having its area equal to that of the A.
Measure its diagonals. Are they equal?

4cm, Scm, 6¢cm the sides of the
triangle A. '
Required

To make a rectangle with area
equal to that of the A.

(i) Draw AB=4cm.

(ii) Draw an arc of radius Scm with centre
B and an other arc of radius 6cm with
centre A cutting the first in C.

(iii)Join CA, CB

(iv)ABC is the required A.

(v)  Draw aline ¢ through C il AB.

(vi) Draw the Lbisector of ABin D

and cutting the line ¢ at P.
(vii) Draw BQ Lon the line£.
PQDB is the required rectangle.

2.  Transform an isosceles A into a

rectangle.

v
—




() Take aline BC

(i1) Draw the L bisector of BC take
_ any point A on it.

(iii)  Join AB and AC.

(ivy  AABC is the isosceles A with

mAB = mAC, _

(v) Through A draw aline ¢ || BC.

(vi) Draw CD L ¢

CDAE is the required rectangle equal in

area to AABC

3. Construct a AABC such that

mAB=3cm ,mEE:B.Scm, mAC=4.8cm.

Construct a rectangle equal in area to

the AABC, al_ld measure its sides.

4 c

(iii)
(iv)
v)

(vi)

(vi1)

Take m AB=3cm

With B as centre draw an arc of
radius 3.8cm, with A as centre
draw another arc of radius 4.8m,
cutting the first in C.

Join B with C and A.

ABC is the required A.
Through C draw a line ¢ Il AB.

Draw the L bisector of AB cutting
the line / in P.
PCDB is the required rectangie.

Measures of sides of rectangle PCDB are;
mPD =3.8cm ! mDB =1.5cm

1. Construct a rectangle whose
adjacent sides are 2.5 cm and Scm
respectively. Construct a square having

area equal to the given rectangle.
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given lengths of sides.

(i1) Produce BC and cut mCE=mCD

(i)  Bisect BE at O,

(iv) With O as centre and OB radius
draw a semicircle cuiting DC

produced in M.

(v) With CM as side compieie the

square CMINL.
2 Consiruct a square equal in area
{o a rectangle whose adjécent sides are
4.5 cm and 2.2 cm respectively. Measure
the sides of the square and find its area
and compare with the area of the

rectangle.

i -~
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(1) Make the rectangle ABCD with given sides.
(i1} Produce AD and cut mDE=mDC.
(iii) Bisect AE atO.

(iv) With O as centre and OfA radius draw a
semicircle cutting Cch produced in M.
square DFLM.

(vi) Side of the square (average) = 3.15cm
Area = 3.15x3.15=9.9cm’

Area of the rectangle =2.2 X 4.5
=9.9c¢m” (equal to arca of square)

3 In Q.2 above verify by

measurement that the perimeter of the

square is less than that of the rectangle.

Solution

(1) Side of the square = 3.15¢cm
Perimeter Py =538
=12.60 cm

Sides of the rectangle are 4.5cm, 2.2cm
Py=2(4.5+2.2)
= 2(6.7)

.= 13.4cm

Perimeter



4.

P, < P, verified _
Construct a square equal in area
to the sum of two squares having
sides 3 cm and 4 cm respectively.

Construction

)

(i)

(i)

(it1)

Make a right angled AABC with
AC=3cm, BC= 4cm.
Using Pythagoras theorem

A +IBCT =\[AB]"

V3 +(4) =/|ABJ’

S5cm=|AB|

With AB as side make square
ABDE.

ABDE is the required area of
square equal in area to the sum of
the areas of two squares.

Construct a A héving base 3.5 cm
and other two sides equal to 3.4 cm

and 3.8 cm respectively. Transform
it into a square of equal area.

A

Construction

(1) Make the AABC with the given
sides.

(i)  Draw the L bisector of AB and a
line ¢ through C Il AB cutting
each other in E.

(iii) Draw BD.L ¢.

(iv)  BDEF is a rectangle.

v) Produce ﬁ cut DH=DB.

(vi)  Bisect EHat O.

(vil) With O as centre and 61:3 radius

draw a semicircle cutting BD
produced in M.

(viii) With DM as side, complete the
square DNLM.

This is the required square equal in area to
AABC.

f

Construct a A having base 5 cm and other sides equal to 5 em and 6 em. Ceonstruct a

square equal in area to given A.



A

P

Construction

(1) Draw BC =5cm.

(i) Draw an arc of radius 6¢cm with
centre C and another arc of radius
Sem with centre B cutting first in
A.

(i) Through A draw a line ¢ HIBC.

(iv) Draw the lbisector of BC cutting
the line ¢ inE.

(v) Draw CF 1 on ¢. CDEF is the

rectangle.

E S5
K
\/
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6cm
e
(vi)  Produce DE and cut EE=E-F,
bisect DL at O.
(vii) Draw a senpgrclg_with centre O
and radius OL =OD, cutting [ in
M.
(viil) Draw a square EMNR with side
EM.

This is the required square equal in area to
AABC. '

OBJECTIVE

1. A triangle having two sides congruent
is called: ___

(a) Scalene (b)

(c) Equilateral  (d)

'2. A quadrilateral having each angle

Right angled
Isosceles

equal to 90° is called
(a)Parallelogram (b)Rectangle

(c)Trapezium  (d) Rhombus

3. The right bisectors of the three sides
of a triangle are ___

(b) Collinear

(d) Parallel

4. The _ altitudes of an isosceles

(a)Congruent
(¢)Concurrent

triangle are congruent:
(a)Two (b)
(c)Four (d)

Three
None
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TR
A point equidistant from the end
points of 4 line Segment is on its
(a)Bisector (b)Right bisector
(c)Perpendiculy (d) Median
— Congruent triangles can pe made
by Jjoining the mid points of the sides
of a triangfe:
{a)Three (b) Four
(c)Five _ (d)
The diagonals of a paraj lefogram o

Two

each other:
(2)Bisect (b)
(¢)Bisect at right angle
(d) None of these

Trisect

The median of a trian gle cot cach
other in the ratio;

(a)4:1 (b) 3
{©)2:1 {(d) i:1

One angle on the base of an isosceles

its vertical an gle:
{(a)30° (b) 60°
(€)90° (d) 120°

If the three altitudes of 4 triangle are

congruent then the triangle js
Right angled

Acute angled

(@)Equilatera] (b)
(c)Isosceles (d)

11,

12,

13.

14,

If two medians of a triangle are
congruent then the triangle wil) be:
(a)Isosceles (b) Equilatera]
(c)Right angled (qd) Acute angled
A line Segment joining 4 vertex of g
triangle to the midpoint of jig opposite
side is called a __ of the trangle:
(a)Altitude (b) Median
{(¢)Angle bisector (d) Right bisector
A fine segment tfrom a vertex of
triangie perpendicular to the fine
containing the Opposite side, is called
an __ of the triangle:

(@) Altitude (b) Median
(c)Angle bisector (d) Right bisector
The point of concurrency of the three
altitudes of a A js called its
(a)Ortho centre (b) In centre
(¢)Circum centre (d) None

- The interna] bisector of the angle of 3

riangle meet g 4 point called the
' of the triangle:

(a)In centre (b)
(©)Circum centre (¢)

Ortho centre
None

- The point of concurrency of the three

perpendicular bisectors of the sides of
a triangle js called the ___ of the
triangle.

(@) Circum centre (b)
{¢) Ortho centre (d)

In centre
None




